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ANEE S 9,583,089 9,578,324 4,765

. =S AleS 1,052,700 1,052,700 0

JEtE g+ 3,000 3,000 0

A= Al 284,692 199,482 85,210
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=2A= Al 4,799,810 3,554,294 1,245,516
=MALHS 4,657,810 3,479,294 1,178,516

Ol== 142,000 75,000 67,000
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ol g1yl Al 100,000 100,000 0
Giglgl 100,000 100,000 0
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== 27,004,647 27,152,689 A148,042

I Et= & Aot 35,950 35,950 0

HIOlS&HIXHAFH S Al 5,902,000 5,902,000 0
A& St 5,902,000 5,902,000 0

JEHRr2H A& Al 3,499 3,499 0
FRELSEE 3,499 3,499 0

ol Al 2,445,021 248,979 2,196,042
ol g1l 2,445,021 248,979 2,196,042






